LS THINGY

PROMOTOBILLET

Instructions: PMB-01-4201

NOTE: we recommend using a thread-

locking compound on all bolts.

1. Remove stock tool pouch bolts and seat bolts.
2. Install side brackets to the bike, using the two
6x40mm flat head bolts, with the 6x16x18
spacer between the seat mounting tab and the

inside of the side brackets.

3. Place the rack on the rear fender and loosely
install the rack top to the side brackets using
four 6x16mm flat head bolts. Leave the bolts
loose to aid in proper alignment.

4. Place the two 6x16x9 spacers between bottom
of the rack and the fender.

5. Insert the two 6x35mm flat head bolts through

the top of the rack and into the fender

mounting holes. Attach the two lock nuts loosely on the underside of the fender.

Tighten the 2 side bracket to seat mount bolts.

Tighten the 4 side bracket to rack bolts.

Tighten the 2 rack top to fender bolts.

Trim any bolts, if necessary, to provide clearance for the tire.

©o~N®

CAUTION: As with all racks on dirt bikes, they should not have excess amounts of weight put on them.
Excess weight can damage the rear sub-frame of the motorcycle.

Parts List:
1-Top

2-Sides

2-6x40 FH

4-6x16 FH

2-6x35 FH
2-6x16x18
Spacers
2-6x16x9 Spacers
2-M6 Nylock Nuts

See our entire product line at promotobillet.com

Questions? 866-466-4762 | sales@promotobillet.com

BILLET




